MAC 2313 - Period: Name: K E\{
Quiz 1
January 18, 2018 Show your work to earn full credit.

1. Find the vector that has the same direction as w = (3,6, 2) but has length 3. (2 points)
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2. Find the angle between u = (2,0,1} and v = {4, 2,0) (leave your answer in the exact expression).
(2 points)
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3. Consider the points P(3,0,3), @(2,1,5), R(6,2,7).
(i) Find a nonzero vector orthogonal to the plane through the points P, Q, and R. (2 points)
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(¢3) Find the area of the triangle PQR. (2 points)
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Problem References:

1. MAC2313 L2 HW Assignment Problem #8 and L2 Notes NYTI #2.
2, MAC2313 L3 HW Assignment Problem #6.

3. MAC2313 L4 HW Assignment Problem #7.




